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1.

     Janko si vyšibal    5      

                                                          ________________

     Miško                  10

     Spolu                     ?             Spolu si vyšibali  ____      .

2. Vypočítaj a doplň podľa výsledkov:
      10 + 4 =          K                14 + 5 =            O      
      3  +  6 =         E                  11 + 2=             C
      5  + 10 =        V                 17 + 1=              N
       7 + 3 =          Ľ
       4 + 4 =          Á
            
                                          15    9    10   14   8           18   19  13

3. Spočítaj a vymaľuj:      
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4.  Namiesto vajíčka doplň číslo: 

1  2   3            6   7   8   9           11   12   13          15   16
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